ANSWER KEY

SIPE A
Name: 24 NNAME TEIAT FUNETIORN CLASSWORK
Domain : Axis of Symmetry (AOS) Other: ophtinuity, end
Function Intercepts Local Maxima/Minima | Average Rate of Change (AROC) behavior, parent function,
& Range Asymptote or point
D (-o,00) |xint: (O,0) Max: none
@ Aos: X, =0 f(5) =6
R [0, ® ) y-int: (O 0) Min: (0, O)
@ D: (- 060, GO) | xdint (-3,0),(3,0) | Max oy T—— as X ——> + o
rRL- 8, OO) y-int: (0, -8) Min: (O’ -8) f(x) -——> 59
@ : (760,00) | xint: (4,0) Masti fiSNcs AROC on the interval [1, 4]: || Discontinuous or
1
R & OO,GO) yint: (0, -4) Min: Vo
(- (94 0) (3, 01| e/ s
@ ( =5 ) s (3, 0) Max (' (O’q)('b" Ll’) AROC on the interval [-6,-3]: ASN=m> 2 0
R (-00,9] y-int: Min: (-2,-7) ==-3 f(X) ——> —CO
b (e s t(':ﬂi/o-) C'-SIO) w f- . .
@ (-00,09) | xin (3,0) Mo (-5, 2) AROC on the interval [3,5]: || Discontinuous or
= .
R (-00,00) | yrint: (0,-3) Min: (O, -3) = = | OnLinUouS:
: TR
D (' o, ® ) X-int: L’q"(')( .2’0> Max: ("‘3,3‘)
@ (z,0) AROC on the interval [-3,-2]: f(1) = -9
R (- 00, 00 ) y-int: (0,-9.5) -3

Min: (0.5 - 10)




NAME TEEAT FUNCTIOR

SIPE B

: Domai Axis of S try (AOS Other: continuity, end
Function _ &RE::"; Intercepts Local Maxima/Minima Avera;[es gateygrgigaée (A%OC) behavior, parent function,
g : Asymptote or point
X ‘ )
D: (~ 00, 060 ) x-int:(~ 5"0) (O’C/ Max; CO, O) o
(S,0) ROS K= as X --> * o
R: [-8,00) y-int: (0,0 ) Min: (-3.5, -8), (3.5, -8) f(x) ——> o
. (- int: (5,0) (-0 : -
@ D: (- 00, 00) x-int: 5,0 ( J ) Max none i s parent funct.mn.
R: E'Z;OO> y-int: CO, i> Min: (-3, ‘2) y = iX I
D: (~G0,c0) xint: (6, 0) Max: none _ parent function:
" ARE)& on the interval [-3,0]:
R: (" 04, OO) yint: (0, 2) Min: none =) y = X
5 s & Oy : ,
@ > Comm) e (207 s 00 pos: X =O f-a) =~
R: (‘ 0o, 0) y-int: ( o) O) Min: none
b 5 ) - s Pl
@ D:(-60,00) | xint: (0, 0),(8,0) | Max (4,R) AOS: /o 1} as X ——> % 0
= o
R(=00,3] |yint (0,0) Min: NONe 1) ®
D: %,X‘ X-‘{ZO} it nome Max: nOVe vertical asymptote: x = 0
@ - : horizontal asymptote: y = 0 Discontinuous
R34l Y#03 | yin: none Min: none




